s

PAPER -1

Directions (Q.No. 1 - Q.No. 5) At first
sight silence would seem to be the essence
of non communication. Yet we know that

in some circumstances silence can speak

volumes. It is also a potent tool in the

communication tool box, for the speaker,
as it adds emphasis to point, allowing time
for its full significance to sink in. Handled
skillfully, it can build up anticipation for
what is to come - the pregnant pause.
It gives opportunity to make eye contact
with audience and gauge their reactions.
It is an essential component of the timing
of one’s d'ga:livezy. For the listener silence
can buy tﬁne, either to digest what has
been said or to consider a response, or
both. Silence will, often lure the speaker

into saying more than he or she may have

intended.

1. Silence is an essential component of
(A) Non-communication
(B) Gauging reaction of people
AC) The timing of one’s delivery
(D) Distraction
Paper - |

YUl (Yol 1- y.of 5

A8 oAU YA 3l 3 Yublél
Al ol srce) iz B, A A4
UG A UL el A 3 uglla
URRAAML Yudlél e 52t gt
Ay clogel UQ D, 2 5120 Ascll HIC
Al Heccloll Yeelel Gus20L B, 3 &l
96€l A GIR AU, sl ACEA Y3
Uecel ALY AA........ A Al
gacyds quuild A @i
usccyd Qe Qaiuell ealell 23 8.

AR AU clsell 2 (R AUS
s2clell cts D B, Seilotl el U8l

el ettt B, csell 14 Sell A2
UL Heelyal Ues 8. eyl ofl AHA
Yausdl B, sl 1 yudlél sl
el slacl Bsurw el B, Betell
gall Al B sdclly B A JLeQL Al A
ycllauzell acllsiz vaal A s, el
YuSlEl asel A olletell el U8l IR

wUsy B,
a2l @Qscu Al ---

1. Yuslel HecayQl ues B

(A) VY RUAUAH]
B) ASlell ulAlate] Hiuat
(C) ylleoll AHA YUSAM
(D) (@&
00
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2. Accor¢
pnusc

ting to the author, the pregnany

(A) Breaks up communicatjop
(B) Helps communicatjon
(C) Build up anticipation

(D) Leads to confusiop

/3\. For the listener silence cqp
/ (A) Emphasize a point

(B) Be a potent tool

(C) Speak volumes

(/D) Buy time

4. Silence seems to be essence of
(A) Communication
(B) Transmission
{C) Non-Communication

(D) Communication tool box

5. What provides an opportunity to
make eye contact with the audience ?

JA) Communication
(B) Discussion
(C) Silence
(D) Gesture
Paper - I

Ty

A

2¢ QAE YMIEL £l (i sz

(A) ctetdlet oit gaef)
(B) dictlletuii 1ee gy
(C) @suat eofel]

(D) *osell Ue( ga¢f|

3. Allctiall 2 yudlé)
(A) Hel A doet 210
(B) Hecaygl Guszel
(C) dy ul@

(D) QuRalell ¥1a HA

4. Yuslel sl HER UR B
(A) alcdAlcdAnl
(B) YAUREL
(C) et Yeuat
(D) Yelal GUsRNL

5. 53 s WU B dscll W RNl
AR Aus sl

() clctfld
(B) =l

(C) Yuslel
(D) é&laeuat
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6. Whic
as both input and

a.
b.

C.

d.

2
®)
©
0)

h of the following are considered

output devices ?

Touch screen
USB memory devices
CD drive

Screen projector
a,cand d

a,bandc

a,bandd

b,cand d

7. Which of the following statements are

true ?

(A)
(B)
(@)

(D)

P -
aper - | u

Cache memory is used to enhance
the performance of computer
system.
Primary memory is also known as
main memory.

Hard diskis an example of secondary

memory.
Static Random Access Memory
(SRAM) is not a Cache memory.

a and b are true, while c and d are
false

a and c are true, while b and d are
false

b, c and d are true, while a is
false

a, b and c are true, while d is
false

A

6. AL 2ll g otyz R wG2Y2 ol

GUsWN | et B ?

a. 2A ¥l
b. USB 04l dausal
c. CD I8

d. slel YRse?
(A) a, ¢ uUa d
(B) a,b ua c
(C) a,bua d
(D) b, c al d

7. oA e 52 Qutet WA O

a. ¥y NIl cuel 512422
Rl steladl arral 2

b, UeHF]l AL, Aet DENE| R ELL
AL 8.

c. 81§ das, Adosl A sreicd ®
d 2Bs detdln AsAU L (SRAM)

3 VAL otell.

(A) a el buA B lolc ol d
viel 8.

(B) & a ¢ UU B el b wa d
Wl 8.

(C) b,c ¥l d AU B Aal a
Wl 8.

(D) &, b el ¢ UA B el d
wel 8.

. s ocochaliiinis,
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8. Which of the following are characteristics 8. o7 20 [zl 21 ([@zcu

B oL o L o e

of CC-BY-SA? CC ~ BY - 8A ol 440l &
a. Allows to copy and publigh a. o5d waA Yallild 52014l Y]
b. Attribution required b, ol 21524l wa921541
c. Cannot be used commercially c. claul@séld o auzz
d. Cannot be modified and adapted d. Yl 5 2dlzi2 o 28 313
e. Cannot change license e. cllady aedl ot 3z
(A) a,band e (A) a, b ual €
(B) a,b,d and e (B) a,b,d wa e
(/C) a,c,dand e (C) a,c,d ua €
(D) b,dand e (D) b,d ua €

”~

[3; In relation to NMEICT mission| 9. NMEICT Raletell dicitin 520 Rscy
document, which of the following is

not true for opportunities of ICT in ICT 24 Rlagy M2 o5 240 .

education ?

(A) Availability of EduSAT (A) Asydeell Guetertal

(B) High power consumption (B) GratHdl aurlal S1sigl A
gon.nectivity and computing s1iBol Reussu

evices
(C) The abundance of knowledge on (€) 8ozaleell Ml UYcll
~ the internet

(D) Rapidly expanding network of (D) wEuR Bl u WSR2 35

cyber kiosks and cyber cafes gL Bsul azafoll [QrcllR

10. Which of the following has been | 10. el 53 @Qseu ‘ot Ru AegBalet
conceived as ‘One Stop Education W’ oll Aealn .

Portal’ ?

(A) SAMAGRA A)

(B) SAMARTH (B) unel

(C) SAKSHAT (C) weand

(D) DIKSHA (D) elau
Paper -1 6
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11.

12.

13.

14.

38, 34,32, 28,

Look this series 40,
1d come next ?

what number shou

(B) 22
(D) 26

() 24
©) 27

Find the next term of given series.

ABD, DGK, HMS, MTB, SBL,

B) ZKW

(D) ZAB

Find the next term of given series.

C4X, FOU, 116R, ————
(B) L250

(A) L25P
(D) L29S

(C) L27P
Which of the following is in descending

order ?
(A) 5/8, 9/13, 11/17

@) 5/8,11/17,9/13
(©) 9/13; 11/17,5/8
(D) 11/17,9/13,5/8

15, 4/7 of 2/3 0f 5/6 of 5/8 of 1008 is
() 200 (B) 144
(C) 64 (D) 400
Paper -
A

11.

12.

13.

14.

15.

A

UL &ANA 9 40,38,34,32,28, —
& 5 iisd) wad ASA ?
(A) 24 B) 22
(C) 27 D) 26

WA sANH| 6 AR A0E
sl 62 ?

ABD, DGK, HMS, MTB, SBL, ———
(B) ZKW

(D) ZAB

(A) ZKU
(C) XKW

AW sl &Q B2 9lGE

sl 69 ?

C4X, F9U, 116R, ————
(A) L25P (B) L250
(C) L27P (D) L29S

{2 A4 53 GcRell sUHL B ?
@A) 5/8,9/13, 11/17
B 5/8,11/17,9/13
(©) 9/13, 11/17,5/8
(D) 11/17,9/13; 5/8

1008 oll 5/8 et 5/612/3 L 47

A2 8 9w ?

(A) 200
(C) 64

B) 144
(D) 400
00
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_ Which of the following pollutants pose | 16. {lAuuigl 52 Yend) g 23
39 the highest n’sk to human health and el 5

environment ? UA uaiazel w2 wul g3z B,
articulate matter (A) %501
(‘9) Particula
(B) Nitrogen dioxide (B) “UBZ%=t st su1efs
5 dioxide .
(C) Sulphur (C) c52 staAs418s
(D) Carbon monoxide (D) stolet QAsu1Es

17. Which of the following is not a priority | 17. “2030 u 2516 @ 516 Qe w2

ea for ‘Education for Sustajnap] . . )
:IJDrcvclopmcnt’ for 2030 ? anle AAetiell 53 waRsc Aopi =2l

(A) Advancing Policy (A) Wit AR
(B) Transforming Learning .
Environments (B) flvael arciazemi uRadst
(C) Empowering and mobilizing youth (C) Yol ¥3tsd uRA A0 529
(D) Building capacities of
administrators (D) yauatsel audi-ll @si

18. Match the following and choose the | 18. lA WA AscA Aadl WA Qscy
correct option given below.

Al .
Movement Activist
I. Chipko a. M. S. Swaminathan llctet viigletetsidl
Movement L Alusl wiflaet a. 1o we{lotste
II. Narmada b. Medha Paatekar
Bachao I oe AL  b. A wes?
Movement BEAA
III. Green c. Amrita Devi )
Revolution 1. &Rt 5i(q C aycll el

IV. Bishnoi d. Sunderlal

Movement Bantoia IV. (Aol ELCtot d. Yo RALA KSR

I O m v I 0 m v
Wb a 4 c A b a d c
Bec b g d B)c b a d
©d b a4 o ©d b a ¢
Da b o 4 DMa b ¢ d
Paper 1 8
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g, “The Future We
t of

Want” is an outcome

documen

(A) Brundtland Commission

B) United Nations Conference on
b d

Sustainable Development

€ world Commission on Environment

and Development

D) United Nations Environment

Programime

The Nagoya Protocol on ‘Access to

20.
Genetic Resources and the fair and

equitable sharing of Benefits’is an

(A) [nternational agreement that aims

to lessen water pollution

(B) International agreement which aims
at sharing the benefits arising from

the utilization of genetic resources
in all possible ways

(C) International agreement which aims
at sharing the benefits arising from
the utilization of genetic resources
in a fair and equitable way

(D) International agreement which
aims to ensure the safe handling,

transport and use of living modified

organisms (LMOs)
Paper - 1

19. 53 [@scu "€ gayau2 cll cltop” of
uReum

(A) %eQos (L

(B) 2516 Qa1 uR gyset Aol
uRwe

(C) uaicirel wa Qs ur @Qa sEaet

(D) Yolle5es Aglot DocllANo YAH

20. lojci@s datiolell U 1 cellsl

c212ll 2R witet aduell uR sl

ek

(A) iRl amedl Rall GRIL B
ygNgl uztscllell 8

(B) uictzausdlal axogell Boll Ga
i sl 3l wejclls

Auttslell guaotll Ggelell
ctlellal aduclell 8

(C) uictardlal el Rall GRA
ulojd@s Alustlel Guaael
Gaclcll el ol A Mt

aduclel B

(D) widradlal aHegell Boll 6B
el uRdgst it living
modified organisms ol GURLL

(LMOs)
00
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A
E:ﬂ 21. sl veaudt 53 YAl Fo yq
> L ULE ALSHL A5 §otoll cAcliyog

vl galfd . A géuoll set HRs

cady the chart and answer the
S

estion the Pie chart given here
qu

preseﬂts the domestic expenditure of
re

afaﬂlﬂymperc
of the family is Rs. 55,660/-. el s olle geotoll et

ent. If the total monthly s 3 55,660/~ B. dl PF %a

income

deductions and payment of the
After PEC RS wias B B :

t, the total monthly income

house 12
of the family remains
Family Expenditure
wRaRs wal
WPF =
OFood @ PF
BHouse Rent o WRLs
@ Entertainment O U] U
OChild Education B HAlRYe
BMedical O clinse] MR
@ eal
(A) 38662
(A) 38662
(B) 38862 ,
(B) 38862
(C) 38962 (©) 38962
(D) 38752 (D) 38752
o
\0
Paper _
per -1 10 00
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23.

92. Choose the graph that best fits with

this statement : “House prices rose in
January and February, fell shghtly’ in
March and are now holding steady”.

A

(A)

A\ 4

L

(B)

©)

v

)

»
>

A researcher uses systematic random
sampling from a company directory
that has 500 employees listed in
alphabetical order. If the desired
samples size is 20, and the first name
to be selected is number 9, which of the
following will not be selected ?

(A) 89
(B) 134
(C) 309
(D) 484

11

A

22w [Quie y ¢ Qg ay Y¥old A

23.

A AUEA Wi g3 , g

: “USletoll Buq
BAUN uR Yoguudl ui atl] aell,
HIRAML ) ) 6d RAR B

A

(A)

v

(B)

v

©

(D)

As suell Bs23ui 500 s
oLl HOUBR Hwol AsAUAA B, dus
RieRdls AE®s otyyeil uieallall
GUlDL 82 B. %l UAA oiyolle] SE
20 8lal el YU UUE AAE oloR
9 8, dl «(lA Usl s ol UE
yQ ol ?

(A) 89

(B) 134

(C) 309

(D) 484

00
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4. The bar graph given below shows | 24. I A adeuul As 2a= }
the Foreign Exchange Reserves of 1991-92 ‘ﬂ 1008-00 = (@23 |

trv (in millions ysg) & i
1091-92 t0 1998-99. The ratio of the °?1{ P . :
F i : g2 Hal GLSIR W3axzlal Gu
qumber of vears in which the foreign (G {al GLSIR :{\l.‘lsﬂ SR,
7 bl H= = Y =
exchange T€SETVES are above the _l{a R A8 Q el
qul wual

average Teserves, to those in which
serves are below .

the re the average

reserves 1S X

R Aoy nd Q3 R 3
(in milliea USS$)

X N W
2880 2520
3120

199192 199283 1SN0 190435 1SUG0N 100NST [NTAR 10%8 a8

Foreign Exchange Reserve of 3
(in million USS$) oatry

([O = 4320 oy
3120

1991-02 1992-83 1933-84 193435 193595 1996.97 1997.88 1093.90

(A) 2:6 A 2:6
B) 3:4 B) 3:4
SRS @) 8:5
(D) 4:4 D) 4:4

25. What is the major purpose of Data 25. HIRA wdueaol yual 3 weudl, ‘
Interpretation ?
(3) Getting meaning from the data and @) WBA el wd e WA

. wReun Gy ‘
armving as a conclusion S ® e,

(B) Hdcle] aals2wt

(B) Classification of data

(C) Analysis of data using suitable (C) ?.-U.O'c‘-l Mi&SlQlR—‘ﬂﬂ GQ&QQ[ Al
statistical too] MRl (g
D) Comparing different classified (D) ¢el-oel collya el daelt -
data (1,
Paper — | 12
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26.

27.

The main objective of formative
evaluation
(A) To find out the difficulties in

learning

(B) To enhance students’ learning

(C) To promote students to the next
class

(D) To develop cooperation among
students

Which of the following options is not
befitting to online teaching concept ?

(A) Swayamprabha
(B) Massive Open Online Courses
(C) Shodh Ganga

(D) Google meet

. Which of the following statements

about individual differences are
true ?
1. Every child is unique and different
from each other.

The same level of intelligence, the
achievement level of student may

be different.

Heredity and environment both
are the reason for individual

differences.

Individual differences are related
to psychology only.

Individual differences are there but
it does not make any difference.
(A) 1,2and 3 (B) 1,2 and 4

(C) 2,3and5 (D) 3,4and5

2.

4.

S.

Paper - |

L

13

27.

28.

26. UclcHs(B20Eldl) yeaisetall Yyt

&
(A) o] usdl ysellzAl elludl
B) (Qeuellott vt2i2ietat catid,

(C) [Qenellal wpinetl adluvisui
HlsAd,

(D) [QeusllQui uesBctl @sauiadl.

ol Udlotl saii QscU Aot AUt
L2l Uot AsCUAHI YUt otell ?

(A) er2iyel
(B) Aalle 2qust etciteSet SRR

(C) 20 200U

(D) et Bz

o3 Aot st Qeell dAGS
cslacloll AealHl AR B,

1. uds Rael / cwas wad 3
wal As —ollonell weL B.

aRull gyRsau Al ol , Rl sau
el =El- Sl .

R WA AlcleRBL B sl
dalEsals cstadl Hizell SRR B.

das dAstadl $5c Holldsiials
ollolcd U - B,

dauBas dstadl g w3 uel Aeiell
316 55 uscl ot2ll.

(A) 1,2 s 3 (B) 1,2 wA 4
(C) 2,3 A 5 (D) 3,4 WA 5

00

{
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/29. One of your student remaijns quite [ 29. R adlol A5 Qaell aofuis 263

in the class discussion while he/she ld /A3 xS 8, A2 asluis G812

Is very talkative and playful outside N _;
the class, what would you do ? A U e Ml B, R 3 5232

1 Try to find why he/she remains L. adluls wuulHi A 42 AR 22 |
Quite in the class discussion and B Aell dutd 5290 2R Aell wd
talk to him/her. - At 5281

2. Assign him/her some topic to 2. cdluisHl cldal 12 A As Halll

Spealcin the class. Aluell 5290 |
3. du A Qanellad ys ypal Rl A

3. You will ask question to the
student so he/she has to speak.

i
y

. Aleg usdl. |
9. Lt_at him/her be quite as it is 4. Aa El'ld el €, 33 A ¥ A<l é
his/her nature. . us@Q B ) '

S. Send him/her to playground
and let him play where he/she
is comfortable.

M) 1,2and3  (B) 2,3 and 4 (A) 1,2 U3  (B) 2,3 uR 4
(€) 1,3 and 5 (D) 2,4 and 5 (C) 1,3 ua 5 (D) 2,4 x4 5

5. dal el AEltHl HUSA vl Aal
Ul €l FHF Al ¥ A WBa 8.

30. Bright student causes disturbance | 30. w22 dX llwcll @ B UL A

in §howir1g of his/ hfer knowledge Aeel [Qauell Welle] stietall 2ousl s
while you are teaching, what would oluis il WA udaudl 26 D, ai i
youdo ? gadile
1. Give him/her some work that he 1. aa Q o 59 a3 Aq s A
can not do so he realise that he/ ' R 32 o .=‘
she doesn’t know everything. vALE AL oYy ¥ ,
2. Give him/her some difficult work AL/l otell. |
in the area of his/her interest. 2. oll Aol AU Aol A§ 4B
- CIRIIVENE
3. Give him/her some books to read 3. Qoll 2aell Azl A st ‘Lﬁdfﬂ
in the area of his/her interest. allel wiusil
4. You will connect his/her points 4, dAMIRL Yeletil dR Aol HERAR
in your talk. o590
5. Complain against him/her to his/ 5. Qoll (@3¢ Qsll aclla sRae
her parents. 52910,
(A) 1,2and4  (B) 2,4and > A) 2w 4 (B) 2,40 5
(C) 2,3 and 5 \(’D) 2, 3 and 4 (C) 2,3 ¥al 5 (D) 2, 3 va\ 4

Paper - I 14 00‘.
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31, Deep Beology has focused upon

a. loosophy
L. Sustainable life style

¢ Richness and diversity of life

d. Deforestation

¢. Only abiotic ecosystem

Choose the correct option given below.

(A) Options b, d and ¢ are correct
/(B) Options a, ¢ and b are correct

(C) Options a, b and e are correct

(D) Options b, ¢ and e are correct

32. As per the latest report on ‘All India
| Survey on Higher Education (2019-
2020)’, the Gender Parity Index in

India is
{4) 1.01
(B) 1.02
(©) 1.11
(D) 1.21

33. Higher Education 4.0 has emphasized

more upon

(A) Synchronous learning

(B) Blended mode of learning

(C) Face to face learning

(D) Adult and continuing learning
Paper - |

15

a1, Gy shlclleil et El2y B
n, B0

h. 261G clotalcll
o Whell ual elatall @A

d. C{ulollOL[{l
c. ¥As e
o2 wiet @scmidl 112l [Aseu

el

(A) Rscub, d vale A2 &
(B) @scu a,c A b 12 &
(C) Qscu a, b el € U2 B
(D) Rscu b, ¢ A e AL ®

32. Al BRau ud Aot sl2R ArYsaet
(2019-20)” el cllBclRell HUEUEL

M @oL uHLotcl Bd5H
(A) 1.01
(B) 1.02
(©) 1.11

(D) 1.21

33. GLRAURERL 4.0 A elR Y=l B

(A) Retsletdt Allol
(B) ewdell BB usld
(C) 303 HBlAR

(D) dla AU [Rectz Qe
00
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é3_4. Match the following

List — II and select
given below.

List - I

givenin List - and
the correct option

List - 11
1. National a. Plenty of
Digital Library internationg]
glectronjc
.]Oumals and
e‘bOOkS are
Made avajlah]e
to all HEJs
2. National b. Toin
Academic Roboct?ggo iIrlate
Depository Engineering
Education
3. e-Yantra ¢. To facilitate
dlgital issuance’
Storage, access
and verification
of Academic
credentials
4. e-Shodh d. To develop a
Sindhu framework of
virtual repository
of learning
resources with
a single window
search facility '
* 1¥ 2 3 4
A)d b a C
B)d a G b
C) b c d a
D)d ¢ b a
b

35. Which of the following core principle

has not been mentioned in National
Education Policy 2020 ?

(A) Extensive use of Technology

(B) Respect for Global Diversity

(£) Synergy in curriculum

(D) Creativity and critical thinking
Paper - I

QI

34. o[l 3 wEl [ ua I o Acll
AR [Asey QKA.
AlEl - | ALEL - 1l
L Qaete Slyeet a. Gl Rlewolell
SILRE Bl uella
URAA
FAs2As UHIRS
UA & 0j5 GUcLo
sAA B
2. Aloldd b. 83aRFat eraidui
AsZM s Aellseto] e
SR 59
3. e -2 c. JlaiQs 2ol
staae(l, e
GualaL AR
UsUQlell Slowect
(Qeng] ) usl2
4. e-AuRly d. QAo @3 Au
YlAul WA w2
HULelle] el
RAGRA udq
MO dUR 539
1 2 3 g4
A)d b a C
(B) d a ¢ b
©b ¢ d a
Md ¢ b a
35. aalelet AwYBalel 200 ol
deelil oA wule @sequl s yo
Rl GeAw o2l a4
(A) csoll8l ol cautus yAt
(B) AR5 (QARQudl yd unuel
(C) AeAUUSUML YRR
(D) AXFellcHscll A WA Rt

16

R
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atch Section = I with Section -1, 36. (ool ~p R Rt - 1ot zilss A
ALl ) ?

- 24
gection ~ I Section - II HSl.
;. Haptics a. Use of body @Qouar -1 CICTBIES 1
.» movement 1. 2Ulsy a. WACE seor -
T ». Proxemics b. Use of space UAatatl Gulal
and effects 2. UsAMsY b, agoal wal wuzAl
3. Paralanguage c¢. Communication Greibn
through 3. Wddy ¢ wudl ea
Ucildat

touching
4. Kinesics d. Use of pitch and 4. Zallsu d. ?;:15:& HLAatl

volume of voice
@) 1-a,2-b,3-c,4-d (A) 1-a,2-b,3-c,4-d

. @B 1-b2-a3-d4-c (B) 1-b,2-a,3-d,4-c

(c)l—c,2—d,3—a,4—b (C) 1-¢,2-d,3-a,4-b

D) 1-¢,2-b,3-d,4-a (D) 1-¢,2-b,3-d,4—-a

37. oA U4 53 YUAtell Wt
GElERQ © ?

1. AANSARLL
2. QYU RIA

37. Which of the following are the example

of communicative tool ?
1. Teleconferencing

2. Voice mail
3. A2

3. Chat
4. GlGHUIERLH sUaA8laL

4. Multimedia Encyclopedia

(A) 1,3 and 4 (A) 1,3 4
(B) 1,2 and 3 (B) 1,2%A 3
(C) 1,2 and 4 (C) 1,2 ual 4
(D) 2, 3 and 4 (D) 2, 3l 4
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38. Which is not a characteristics of
Effective Communication ?

(A) Completeness
(B) Cultural heterogeneity
(C) Concreteness

(D) Correctness

39. Which ofthe followingis nota component

of a communication system ?
(A) Sender

(B) Message

(C) Feedback

(P) Reinforcement

40. What are the causes of semantic

barriers in communication ?
1. Poorly expressed message
2. Use of technical language
3, Unnatural assumption

4. Lack of attention

(a) 2,3,4

B) 1,2,3

€ 1,3,4

D) 1,2,4

Paper ~ 1
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38.

39.

40.

oAl AL 59f wERE Ul
g oell.

(A) y&let

(B) aixglds (Qucll
(C) otssRcll

(D) 0ocll

A U4\ 9 ycuLet ciote] ues otell ?

(A) HISEAR
(B) dEal
() ylywdl

(D) Y535

1A QS| sall Ylllol HIZ AHAAUIU
51200 & ?

1. ototofl Al 2% 2udct AR A
2. g8l el Guol

3. AU YR
4, Rlotall velcl
(A) 2,3, 4
B) 1,2,3
(€) 1,3,4

(D) ], 2’ 4
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41, Given below are two statements - One
is labeled as Assertion (A) and the other
is labeled as Reason (R).

Assertion (A) : Government of India has
established higher educational bodies
to ensure the quality of education.
Reason (R) : There are some educational
institutions in India which do not

provide quality education.

In the context of the above two
statements, choose the correct

option.

(A) Both (A) and (R) are true and (R) is
the correct explanation of ()

| (B) Both (4) and (R) are true but (R) is
not the correct explanation of (A)

- () (A is true, but (R) is false

(D) (A) is false, but (R) is Tue

Which of the following statements are
' true in the context of Vyapti?

1. Itis the relation between middle and
major term in the logical ground of
inference.

2. It means a state of pervasion.

3. Vyapti serves a basis of Nyaya
syllogism.

A

41, o WA A Qe D. N (Atttata]
U@L ELA (A) VA Vladla]

U@l 50 (R) .

ELCD (A): clRcl ARs1R @awtell opeiatt
YRR sc G Aa@s el
2l 8.

50U (R): @lRctdl declls Aal@ls el
D 3 R opuiadiysd Qe 2uud «tell.

GUASH QA cllselall AL,
A% G UdlE S

(A) 6l (A) AU (R) WAL B 3 (R)A
(A) ol QoL WAL B

(B) ¢l (A)AA (R) AU B W (R) A
(A) ofl AR 2wl «tell

() (A)UY B, ¥ARR) W B
(D) (&) W B, U (R &

42, ‘U ol AeelHl QA U\ sl
Qe R 8 ?

1. deHlotell dUlEs Aot Hel Aal
Y2l AGE AR Aol B.

2. d cauus RAA B.
3. Ul RUAA AR YA W B.

B) 2 uxA 3
D) 1,2 x4 3

(A) 1 ua 2
(C) 1nA 3

(A) 1and 2 (B) 2 and 3
- (©) land3 D) 1,2and 3
aper - |
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<
N
NG
0

S
ST g+ Tmeans Siy father of T

43, 1nd the Next (e of given serles,
ATTRINUTION, TERIUTO, RIBUTIO,
TEIAN S
() U
@ Ul
() Ut
(1) U

44, In a certain relationship
Q N T meana 88 brother of T

-1 means S ia mother of T

Answer the following question based

on data above.
In the pattern
N related to O ?

(A) Uncle

(B) Father

(C) Cousin

g)) Grandfather

M + N + O, how i8 M

45. Which of the following diagrams
indicates the best relation between

Travelers, Train and Bus ?
~800

O

) . (D) @)

(A)

Paper - I
20

ag, uiiiel gl el et 10F 'ul:’ll:"
A’l'l‘l\'m'l I'TION, '['l'm””’['[( ), RIBUTIO,
IBUTH.. ?
(A) BUT
(1) U
() ur
(D) 1BV

—

44, WS Aol
o wed S ol T

M+ N+
0 wd WiRd © 7

(A) 818l
(B) Qclt
(©) 8L/ HUHL

(D) ELEL

aoitletl elLes /0l&ol

45. o2 A4 56 W@ Yaull, Fot Aol
ol el Ave Aolta €2l B

ol QOQ

(€) . (D) (@)
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'46. How an achievement test is different

from Entrance test ?

(A) Achievement test needs high
content validity whereas
Entrance test needs high

construct validity.

(B) Achievement test needs high

construct validity whereas
——
Entrance test needs high

content validity.

(C) Achievement test needs high

predictive validity whereas
Entrance test needs high

content validity.

! (D) Achievement test needs high

content validity whereas Entrance

test needs high predictive validity.

- Sequential use of the three levels of
“ coding — open coding, selective coding

‘and theoretical coding is done in
(A) Phenomenological research
(B) Ethnographic resear'ch

(€] Grounded theory research

(D) Case study research

21

A

46. Q6 5l wian val yas udes
gk 9o 7

(A) R s8] udlauni G2
[Quetcire] yrulejcet &2t &
il ydal udlati 2uatiofl
Gl YHIRLe(cl &lat &,

AR s:dl udlawni ztiell
G2l YHIBLeYctcll Al vlal Yaal

wilauni G ([Autekd
YHIBLe L Sl 8.

(B)

RR s udlauni G2
(IR0 S YHIRLe| AL 8l

e s
8 wa yda ulladi G
Quatdzq  UHW@Le AL 8l B.

(©)

AR sad udewmi G2

- [Auadrd Yyl
ala B el yadal
wIlatdl G wReleHs
YR AL 3l B

47, AR5t A8 A 55 Gl —
AUt 5321, AcdsBa AR,
sResc sUSat

(A) aeattaudlaL L
(B) ojcialali@ Y
(C) ot Reict Ay
(D) calsxl peA 20y
00
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48. In a reaction scale, the scale vg]
ues

are from 0 to 5. Which of the followin
scales of measurement is applicabli
for the data collected by this scale ?

(A) Nominal scale
(B) Ordinal scale
(C) Interval scale
(D) Ratio scale

Lb Which of the following is a normal

group ?

(A) Skewness is zero and it is
Platykurtic

(B) Mean = Median = Mode and it is
Leptokurtic

(C) Mean = Median = Mode and it is
Platykurtic

D) Skewness is z€ro and it is

Mesokurtic

ansformation of human mind

50. The tr
hysical to a

from theological metap
al and scientific belief led to

ration
the emergence of

(A) Holism

(B) Rationalism

(9, Critical consciousness

(D) Positivism

48. A yQurR B 64

49.

50.

ol 5. (2 A4 &l
Asctol M2 Gualotil aad ?

(A) Qo HH
(B) vieisH e ,
(C) vicRlel Hu

(D) oelTtR H

(A) YA A2 B v 2 Qd\scls ®

B) Hlot = JRaet = HS wa A

Qualsdls B

() Mot =52t = Qs v A
Qualséls ®

(D) A AR B el A AAss B

ol dlRes 2@ d@sell Ass
2 AstEls HiotcestdHL uRddetall

512Q Gact AU B -
(A) AHAAUE

(B) dA¥cllE

(©) W@ yewetug

(D) &5RAMHSAlUE
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